www.FirstRanker.com www.FirstRanker.com

Total No. of Pages:| 2 5 1 93

Register Number:
Name of the Candidate:

B.A. DEGREE EXAMINATION, MAY 2015

(BUSINESS ECONOMICS)
(THIRD YEAR)
(PART - III)

330: INDIAN ECONOMIC DEVELOPMENT

Time: Three hours Maximum: 100 marks

SECTION - A

Answer any EIGHT questions. (8 x 5 =40)
Why Indian Economy is regarded as an underdeveloped country?
Explain the measures to control the growth of population in India.
Put forth the difficulties in the measurement of national income.
Explain the major types of unemployment:
Bring out the objectives of land reforms in India.
How to solve the indebtedness problem of rural farmers of India?
What are the major sources of industrial finance in India?

Explain the causes of labour unrest in India.
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What are the causes of regional disparities in India?
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What re the advantages of direct and indirect taxes?

SECTION - B
Answer any THREE questions. (3 x 20 = 60)

11. Discuss the role of agriculture in Indian Economy.

12. Examine the role of cooperation in agricultural finance.

13. Analyze the role of Small Scale Industries in Indian Economy.
14. Narrate the types of collective bargaining.

15. Explain the regional disparities sin India.
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sTemauCuieyih TG afleor 18 & @b & @ ollenL_weals s alb. (8 x5=40)

GbIW QUTHATTSHTTHDSH 6T60T UGTTH Bl OIHLD BTL_TH H(HHIADTTHET?

GbHwTalsd wheeT CHsTens euarTFfleonw  SUGUUODHSD  BL UG He»HHen 6T

aTeT & (J) .

Chpfw aupHTenwdH HewTHABMBED o aTar FTDBIKEDET Fn D).

Geauemsvulesr emibuiest (LpdHAEwl auenHHenar alerdd)d.

GbSwTaled BeoF FTH(HdhHmIHaNear CHBTHHBIHMAT H(HH.

GbHwralsd Hymiip ealeusTulsheafler HL_eT Fenlbenwl sTeueuT H CUTHHEOTID?
@bSwTalsd QnHTifled Buler (Lphdwr el eLpeLBISAT WITeneu?

SbSWTaled QHTIHEOTATT DIEHLOUTCITENIDHBTE  HT 6T BIHED AT OT6N & (F) .
SbIWTald 1MTHIBEWI 6T DD & HITLDOYHEh ST 6  HTT6U0T BIHEAT WIT6m6u?

CBTUpas P M Wwen D (pd auflFafler BbeTemHaT WTeneu?

UGS <9

sTenauCuigyl b ep et mI aflesr T & @b & (& aflen L uiend: & ayib. (3 x 20 = 60)

bHw QuIT(HaTTHTIH S0 aleusTwish et LBIReneoT aTeuTgs).
alougFmTwl BHUND gL Gpealest LiBIHen 6T DLITUIS.
AbHul GQur(haTTHTrH S Ay GsTifledsHallear LEIHeeT SLTTUIS.
L0 Gurg Slet auenmmHenar aleur.
Db Hureies WITHAU TPPH HTHaHmaT slarie .
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